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Number of Questions : 50

Find the difference between larges C

and smallest 5 digit number.
(a) 89900 (b) 89999
(c) 89998 (d) All %g
Keeping the place of 6 in\the
number 6350947 sa the
smallest numbe ned by
rearranging oth l}ﬁs i8s.
(a) 6975430, (b) 6043579
(c) 603457@ (d) 6034579
surface area of a chalk box
erigth, breadth and height
m and 3cm respectively.
(b) 275 cm
(d) All of these

%7 cm =
16 cm?
e ratio between the rates of

Wa]kmg of Aand Bis 2 : 3 and
therefore A takes 10 minutes more
than the time taken by B to reach

MATHEMATICS

Max. Marks : 50
Time : 2 Hours

S A L

R o Yo

the destlnatwn If A had walked at

double the speed, then in what
time would he have covered that
distance?

(a) 9 min. (b) 14 min.

(¢) 15 min. (d) 19 min.

If the denominator of a fraction is
1 more than thrice its numerator
and if the numerator is increased
by one and denominator is reduced
by two then its value is 0.5. Find
the fraction.

@) 5 ®) 75

3
© 16 @ %

If A to the sout h of B and C is to
the east of B, in what direction is A
with respect to C?


















Mock Test-1

e The third number is 3d — 20 less than 3 1
the second number. (a) 12 (b) 4
* The sum of the three numbers i
10d +9. S © 2 @ 3 N\
38. The first number is 42. x% of y + y% of x =
(a) 3d-11 (b) 2d + 19 (a) 3% of xy % of xy
(c) 3d-7 (d 5d-11 (¢) 5% of xy % of xy
39. Sum of first and third number is 43. When the time ‘s 4:20, the ang
(@) 5d +11 (b) 3d+7 betweenthehands of the clock is
(¢ 5d=11 (d 6d+5 (a) 206 (b) 15° |
40. Algebraic expression for clue (c)l 21 (d) 10°
number obtained in second clue 44. number is divided by 125

(a) Second number = First number e"femainder is 82. When the

+2d+5 same number is divided by 25, th -
(b) Second number = First number emainder will be

—(2d + 5) (a) 8 (b) 9
(¢) First number = Se(%a | (c) 6 d 7

number + 2d + 5 \/ 45. Consider the following statements.

(d) None of these (i) IfL.C.M. of two numbers 6 and

Choose the correet, alg 8 is 24, then their H.C.F. is 2.

expression for the secone (ii) First number x second number
41. In the adjoini =LCMxH.CF

fraction Ofth Wh S represented Which of the above statement(s)
is /are correct?

(a) Only (i)
(b) Only (ii)
(¢c) Both (i) and (i1)
(d) Neither (i) nor (ii)

46. The average speed of a truck is
80 km/hr, the total distance covered
in thoursis 240 km.then tis............







MATHEMATICS

3.

\I'%t the distance be D

Distance
. Time taken by A = "‘é‘l')'&;a‘
_D
~ 3x
: D
Time taken by B = o~

"
| MOCK TEST-1|
-1 () | 11 | () | 21 | (¢) | 81 | (a) | 41 | (o)
. (© | 12 | (b) | 22 | @ | 32 | © | 42 | ®)
g | (e) | 13 ¢) | 28 | ® | 338 | (@ [ 43.\@)
4 | (e | 14 | () | 24 | (¢ | 34 | (@ | 44/ (@
5 | (© | 15 | d) | 25 | d) | 35 | (d) | 45| (e
T
w (d) | 16 () | 26 | (@) | 36 | () |[\46 | (a)
o (b) 17 (b) 27 (b) 37 (a) 47 (c)
____8__ (b) 18 (d) 28 (b) 38 (c) 48 (a)
9 (c) 19 (b) | 29 (¢) | 39 | W@ | 49 | (b)
(10 | @ [ 20 | ® | 30 | @ | .4047@) | 50 (d)
1. (b) The difference between largest *. Ratio of times taken
and smallest 5 digit number is DD
89999. = Saiog -4
2. (¢) 6034579 is the smallest number Gw?e{n 3§ O o O = 10
gtj)t?t];led by rearranging other So, A would have taken 30
o Legl .h ol minutes.

c = ngz h— = S But if A walks with double the
leghi L ccrgl o\ speed, then he takes half the
Surface areaof the chalk box o ) Eu:: ézie" e
=2 (b + bh +hl) S 10 e Let the numerator be x
: 3(10(%?%8 f5+x3% )"‘cm" then denominator = 3x +1
= 2(1 m? , e

< %m*’ez ~Fraction = -7
:,; tio of speeds =2:3 Case 11

New numerator =x + 1
New denominator = 3x + 1 -2

=3x-1
_ x+1
New fraction =
3x—1
x+1
Given =05

3x—1



10
x+1 4 5

Original fraction

3 3

~ 3x3+1 10
6. (d)Clearly comparing the direc-
tion of A w.r.t C in the second
diagram with that in the first

diagram, A will be south-west
of C.

1 147 ‘&2» 252
7. (b) Z"‘Z—“_f‘_'
Hen@gh together picked

LW *'1
ﬁ_f__a%(ron' 5 of the stones.

8. (b) 1dozen = 12 items
+: “Cost of 12 pens = ¥180

-

9

Cost of 1 pen = ?11-8; =315
Cost of 8 ball pens = 756
Cost of 1 ball pen = ?—55 =327

Ratio of cost of a pen to the cogst

Hints & Explanations

15 :
of a ball pen = 7= | S

(e) 90° + 30° + x° = 180°

xo — 1800 g 1200 = 600

ZACD =x° + 90°
= 60° + 90° = 150°

10. (a) Alphabets follow the sequence

K M P b, Y
\_/‘\/“\4/\/
+2 +3 3 +5

And numbers.are increasing
by 2.

11. (¢) Let the distance from workers

housévand his workplace be d
and t be the actual time.
~. Distance = Speed x time
d=4(t+15) 1)
-- Worker increases his speed
by 2 km/h and reaches his
workplace on time.
Ld=4+2)t
d =6t (2)
From (1) and (2);
6t=4(t + 15)
6t = 4t + 60
6t — 4t = 60
2t =60
60

f=—
2

30
t=30 =—h
min 60

Therefore, the required
distance = 6t

=3 km

12. () Let two unlike terms without

constant terms are x and y-



Hints & Explanations

The division of the terms = -

and it can not be reduced.
13. (¢) CMXCIX = (1000 - 100) +

Il

=2x3x3xbHxTx1l.

= 6930.

Hence, the minimum distance
each should cover so that all
cover the distance in complete

(100 - 10) + (10 -1) steps is 6930 cm.

=900 + 90 + 9 =999 .
14. (¢) LCM of 12, 15, 20 and 35 =420 L . . J: =
———y A 3 (@ o o,
420) 1000 (2 : HBES
= BC = BD&GD
160 5= 39_15
Required number = 24'km
= 1000 + (420 - 160) = 1260. AB =AC - BC
=27 —-24

15. (d) The circle has infinite number
of lines of symmetry. =3 km

lcem 1cm » 0.216 + 0.064
s[ls o]z 20. (W P~ .36+ 0.16 - 0.24
16. (C)‘d‘ o x| | B 0.28_1
e ~ 028
Area=(3x1)+(1x1)+@3x1) o 1 10000
+(1x1)+(3 x1) 0.0004175 4.175
=3+1+3+3+1 ‘ =10,000 x 0.2395
=11 sq cm. N = 2395
17. (b) —8—2[6 + 4{7 —(4.2)]]V (111) Given expression is equal
=_8_2[6+4 [.'%_42}] t0[0.9-{2.3-3.2—-(7.1-8.9)]
=_8-2[64412.8)] =[09-{2.3-3.2+1.8}]
=_8-2[6+112] =[0.9-{4.1-3.2}]
=—8-2[17.2] =[0.9-0.9]=0 0
= 8-34.4=-424 21. (c) Mean of a set of observations is
18. (d) ™~ the value which is a represen-
4 3.70.77 tative of the whole group.
@ 63,35, 77 22. (d) ZADE + ZEDF =180°
% 3 |21, 35, 77 ' = 13x + 20 + 40 — 20 = 180°
\ 57,35,77 x =10
7 17,7507 /EDF = 30°= ZABC.
T M _ (a) is true. el
11 PR Also, ZDBC + Z.A(gtraight o

“ L.C.M. of 63, 70 and 77



Hints & Explanatigp,,

12
/DBC = 180°-30° 26. (a) Product
= 150° 2 K 2) .luz 1 1 2
and ZEDF + Z/EDB = 180° e A
(Straight angle) ’“
/EDB = 180°-30° e 1T
=
= 150° g
. ZEDB = ZDBC = 150° 1 4
BC || DE — Buv? [Eu Ly |
. (e)is also true. g
Also, #DBC + ZEDF L et WA
_ 150° + 30° = 180° B\
(b) is also true. 1 1 skl ™2 22 1
23. (b) Required perimeter 27. ) 7T 57 T
4 4 4 4 4+-2 9
= circumferences of both the |
circles + 2 radii of each of the 1_*1__.-1__1_:1X2hl
circles. Sl Pl )
| 4 G Eils 9
6rr I :
_ 21— 1498 _ 3nr-}28 Hence, he put—2~ fraction of the
sihiare B covers on Wednesday.
oy 28. (b) Distance travelled everyday
—3><7><7+28 =20 km 50 m
», =20k
= 66 + 28 =94 'ém m+5(;§1
“Bkm . 8km =
24. (c¢) er M:Skml ;\1,6 - A0 1000
5. » = =20 km + 0.050 km
Mmuin distance 1
) +1m=——km
= /(8)2 -!-(6)2 1000
/ =(20 +0.050) km = 20.050 km
= /64 +36 =100 = 10km. Distance travelled by bus
25 (d) 35x =5 x T x x, =10 km 200 m
55x =5 x 11 x x, =10 km + 200 m
77 =7 x 11 X% 9200
HCF=24=Xx =10 km +
Numbers are 35 x 24, 55 x 24, 1000

77 x 24 =10 km + 0.200 km

i.e. 840, 1320, 1848



Hints & Explanations

1

1000
= (10 + 0.200) km = 10 200 km

- 1.[]1 ] ]CII'I

.. Distance travelled by autg

=20.050 km - 10.200 km
=9.850 km

) 4
29. (c) Height of A = 3 % height of B

4
=§ x1.2=1.6m

30. (a) The figure given is a square.

Square has four lines of

symmetry.

31. (a) Letthe breadth of rectangle be x

Then, length of rectangle = gx

-+ Perimeter of rectangle
=132 m

2 (length + breadth) = 132 ?
2[§x+x] = 132 \/

2 x-———x 132 Q‘
g@

x=30
6
; = —x =—x30=36
5)(

adth X= 30
- Area of rectangle

= Ieng'th x breadth

=36 x 30
= 1080 m?
32. (¢) There are 2 series :
- (+ 3%
33, 364, 40

to each term) 27, 30%,

13
i :1
(= 3% to each term) 27, 2,.5-4 )

20 L 17-]'
g1 177

33. (¢) L.C.M (40, 240, 480) = 480

H.C.F. (40, 240, 480)"‘4.
Let the number be

- Difference of M. and
H C.F. is eqal to twice of the
number.
.. 480 — 4@ 2x*
440 = 2x \

440

X=\g7" 220

Hence, required number is 220.

35. (@) Length of the original piece of

: J
wire = g metre

L
Length of one piece = 7 metre

. Length of the other piece

r?—-— —]metre
“l8 4

7 %2
k8 4x2
ki

kg — E] metre

- 7—;-2- metre = -g-metre

] metre

36. (c) -- Distance covered by Karan in

2 hours = 8 km
. Distance covered by Karan



Hints & Explanation,

Third number = Second numbe,
—(8d-20) =6d -2 ~3d + 20

14

8
in'lhours=§ =4 km

. =2d + 18

Distance covred byklzran in4 S 7424413
l.‘"ﬁ:g;::ls = 5d + 11
Di;tmce covered by Kriti in 40. (a) Second number = First numper
2 hours = 6 km +2d £5

. Distance covered by Kriti in 4l (¢) Wecan divide the given figure
1 hour =3 km into 12 equal parts
Distance covered by Kr1t1 in 4 . O 1
hours =4 x 3 =12 km Shaded portion.= -

~B=8km,C=12km
37. (a) - Drop in temperature in 30 &

days = 15° ( A
. Drop in temperature in 1 day = 4
15
=30 degree
Drop in temperature in 10 day
. (b) x% of
= Ex 10 degrees =5 degrees N2 (W) RLORSg oL
30 Xy , ¥X
=g ———— S
Hence, the temperature will 100 100
drop 5 degrees in, the next ten
38. (c) Let ﬁrst n ' u e’ 100 100
Secondn r=a+2d+5 = 2% of xy
Third 1 sf=a +2d + 43. (d) In 60 min. hour hand moves by
. 5-38d +20 360/12
—a—-d+25 In 20 min. hour hand moves by
Sum:a+a+2d+5+a—-d+25 360
=10d + 9 12><60><20=10°
—3a+d+30=10d +9 : :
. 32+30=9d+9 44. (d)If x is the quotient then the
+10=3d+3 remainder is 125x + 82.
j Z 3d -7 When this number is divided
39. (a) Second number = First number FAD, W gt
+2d+5=3d-T+2d +5 IZSx 82 _ 9 ¥
_Kd-2 % +25 5x + +25

Hence the remainder will be 7:






